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22 |ReABhiE (BB gy ) 3 =R (EED ZARZE | 10000 10
BAEFRIAET: 500 A 85 5 400 8 2
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B B G R wRE= * 3 P 5
| Fatoss| MRS Ra
A =R
1 EARBET 3 EER (RD 2R | 10000 4
2 |3hig it 3 A CERD AR 10000 4
3 | BRI 3 R (RD 2R | 10000 4 18 6
4 ek s R g 3| mm o csRbD | zA | 10000 4
5 sk 3| mm R | k% | 10000 5
6 |mEERRI 3| mm R | 2% | 10000 4
7| RAEIE BT 3 EER (RD 2R | 10000 3
8 |HuE AR 3| mm R | k% | 10000 3 2
9o |=meRBir 3| mm R | 2% | 10000 4
10 [AFLZEAREIT 3 EER (RD 2R | 10000 3
T AR i
1| Egis T 3 | mm R | k% | 10000 3
12 | LEERMBEIT 3 R CERD SR 10000 6
13 |lWEXKITSTE 3 R CERD 2R 10000 6
14 Bz & ARBEH 3 A CERD AR 10000 6
15 | EB&it51LE 3 R CERD AR 10000 5
16 |F=fhaARiEi 3 R CERD 2R 10000 4
17 | W 5 i 3| mm R | k% | 10000 4
18 Az 3| mm R | 2% | 10000 3
19 | s g 2 A 3 | e csrb | 2% | 10000 3
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01 BB (B4 3 = (ERD -fig 13800 3 22 2

02 ([ 4 ik 3 =R (FED — & 13800 2 17

03 [ R#EdEE 1 3 =R CERD - 13800 5 2 16 2

04 |#&T1E 3 = CERD — 13800 3 25 2

05 |BEEEH T %% 3 R CERD - 13800 3 15

06 |F-FRi% 30| mECERD — 13800 15

07 |BUAHI A 2 3 = (ERD -fig 13800 3 2 19 1

08 |Jifeili e 2 3 = (BRD — % 13800 18 2

09 [lEE S5z 3 =R (BED i 13800 2 18

10 [BETZ258% 3 = (BRD — % 16000 3 2 23

L1 [R5 (BEBER 555 1) 3 =R (BED i 13800 3 2 15

12 (R 5EsE ()LD 3 R CERD — % 13800 3 19 2

13 (RS GEERERD 3 ER CERD - 13800 2 1 20 2

A59 RN AR S B 14 A AE (R%S5kID 3 L (ERD — 13800 3 20 2 f%i

IS |PHEHUR AR (a2 8 A 3 m CERD -fig 13800 2 15 1 ii
16 [P NS HRAR CERAF 8L SR 3 =R (FED — & 13800 3 2 18 2

17 [BrriidsR CGEISEVRIZT) 3 =R (BED - 13800 3 16

18 [RAEHI SUEEHAR 3 =R (FED — & 13800 12 3

19 |ZAR®I GREEBH 3 HHL CERD [ ZARZE | 16000 2 8

20 [EAREH ML 30| mECERD | 2R3 | 16000 2 8 3

21 R EARB 3 R CERD 2R 16000 2 1 12

22 | NV 3 = (BRD EARK 16000 16 2

23 |[#E SR SHIECH B A 3 mIR CERD | 2R [ 30000 2 15

24 RSB B 30| mE CERD | 2R3 | 18000 12 3

25 |HHEEIEE 3 B CERD [ 2RSS | 16000 3 1 16

26 |y 3 = (BRD — 16000 5 2 30 3
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04 | KGR bR it 3 IR CEED —& 7500 18 2 P ERER LT
05 |FEAR TREHAR 3 Bl CLRD — 7500 37 3 TEEGOL
06 EHFRIE5YIT 30| mm CEED W 2500 15 2 18 2 Fota 5 5
07 | TIEHAR 3 IR CEED —& 7500 10 30 P ERER LT
A6l AR R AR B 08 | A= b A B 3 Bl CRD — 7500 15 5 fEi (TEE s
09 [BARL 2 5 1 3 R CEERD % 2500 25
10 (e B 30| mECERD —f% 7500 22 3 20
11| bl 55 30| mECEED —fi% 7500 5 2 26
12 | WysBk Il B2 F A 3 I CERD -f 7500 5 15
13 | Betol e 3 IR CEED — 2500 28 2
IR E/CUE @S 3 =R (BED — 7500 10
BETRIGT: 400 A 63 10 285 20 2 20
01 | RIS 3 =R (EED —& 19000 5 1 20 1
02 [F5HE GHEHER 555 3 =R (BED — 19000 5 1 20 1
03 | RIHPEEEAE (HE O3 5 555) 3 IR CEERD i 19000 5 1 20 1
04 [iEFRsL55 3 L CEERD — % 19000 3 1 20 1
05 |ty 5 H 30| mECEED —fi% 19000 3 1 20 1 1
A62 BRI EAR KA 06 | K¥dE S =1t (Bhheih) 3 =R (BED i 19000 5 2 25 1 1 i3
07 | TRk i 30| mECERD —f 19000 3 1 20 1
08 | HpRm % 3 =R (BED — 19000 3 1 20 1
09 | BLAA AL E L 3 =R (BED i 19000 5 1 20 1
10 | e 2 3 =R (EED —& 19000 3 1 15 1
11 [EH TR 3 IR CEED — 19000 5 1 30 1
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12 | CREGE S 3 L CEERD — % 19000 3 1 20 1

13 TSRS R 30| mECERD | i | 19000 5 1 20 1

14 RN HEA (NTE#D 3 IR CEERD fB 19000 5 1 30 1

15 | NS A 30| mBCERD | M | 19000 3 1 15 1

16 (iR EoR 3 P (LR —f# | 20000 15 2 30 1

17 | VI B2 F A 3 =Bl CERD fB 19000 5 1 18 1

18 | B iR poR (BT SERi S ML B 3 B CERD — 19000 3 1 15 1

19 [HLH— LR 3 P CEFRD — 19000 5 1 15 1

20 (VR S4EEEAR 3 =Bl CERD fB 19000 3 1 15 1

21 | &AEREINTHOR (B SR T 3 B CERD — 19000 5 1 15 1

A62 R RNE AR K 22 |frfiiR S ge 3 Bl CERD —f# | 20000 5 2 20 1 e

23 |k ek AR 3 =R (BED i 19000 10 1 20 1

24 | AW HOR 3 B CERD — 19000 5 1 25

25 |4 (REHD 30| mECERD —f | 20000 5 1 20 1

26 BRI MSS SE A 3 IR CEERD fB 19000 5 1 20 1

27 |G AR 30| m CERD fi | 19000 5 1 20 1

28 H IR 3 =R (CERD | 2R [ 21000 2 5 8 1

29 | A ERBKIF 30| mECERD | ZAR%E | 21000 2 5 8 1

30 |tk Z AR 30| mEBCERD | 2R3 | 21000 2 5 8

31 | \NIE G GERLLED 3 =R (CERD | 2R [ 21000 2 5 8
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BAT T, 24 W




FAEHR
- [l =R FHAh -
pi Bt %% HE AL ¥l | wmEk | X i&%& kY ey kY gy - eyt e #
somi e | TS| = | ACTARSE P ’ )
e | IR | AR
EREhE EERAE
01 (42t 3 CEFH —f | 21800 24 2 70 2 55, EBEREIRE
02 255 3 RCERD —f | 21800 23 2 50 2 09y, CEELERTINE
03 | & iSRRI AR 3 RO(ERD M | 21800 5 2 15 2 035, MEEERTINE
04 (IR G ST HOAR 3 GZE)) —fi | 21800 8 15 035, CEELEREME
05 [HlH—RILBAR 3 RCERD —fi% 19800 5 20
06 | Hrr kiR 3 nOCERD x| 21800 5 20 2
07 |[Brr sk (EsEmRHE 3 (LRD | & | 21800 5 15
08 | FEALELSLBAR R 3 RCERD —f | 21800 6 7
09 [TEIA B TR 3 nOCERD g | 21800 8
10 (@50 TREBAR 3 GZE)) —fi% 19800 5 15
11| ARG 3 RCERD —fi% 19800 5
12 [ R¥fEE =it 3 ROCERD W 19800 5 24 2
13 [R5 3 (BED —fi% 19800 8 1 24
A64 bty BIRME B {3
14 |HEE RS TIEE 3 RCERD —fi% 19800 6
15 | BRI E 3 nCERD f 19800 5 14
16 [7rhafess 3 GZE)) —ft | 21800 2 1 3 B Ll TR 24 7 T4
17 |2201%0H 3 H(ERD —f | 21800 20 2 66 2 T RIBBRIEF A R
18 ({5 G 5EH 3 1OCERD | fRE2 | 21800 3 1 7 1
19 | 4 5 5 ) 3 CERD | —f& | 19800 5 2 20
20 |EMEAEAREIZE 3 RCERD —f | 23800 6 6
21 [ZARE 3 R(EED SR | 25800 5 5 2
22 | SR 3 (BRD | 2R3 | 25800 5 2 8
23 | T 3 0OCERD | 2R | 25800 5
24 AL BRER 3 ROCERD | 2R3 | 25800 5 5
25 | WA 3 CERD | 2R3 | 25800 5 5
HETRIAT: 630 A 160 15 438 15
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01 [TolkpLas AR EFD —& 22800 10 25
02 | TSNS A RCERD —f& | 22800 15 40 3
03 [N AR RCERD | 22800 8 15
04 [ BAFHA GZE)) —f% | 22800 8 20
05 |45 RCERD —f | 22800 30 80 3
06 |&flikes 58 R(EED i 22800 8 25
07 | R¥E 51t CEFD —& 22800 25 50 2
08 |[HFxr 55 RCERD —f | 22800 6 20
09 |5K5%5 54N ST RCEFRD B | 22800 6 15
10 | TRl CEFD —f% | 22800 6 15
11 [T Rss RCERD —f | 22800 6 20
A65 P 33

12 | BRI E B R(EED i 22800 6 20
13 |iRiEE (S RE D CEFD — 22800 6 10
14 |EEEE ST EE BURSTED RCERD —f | 25800 10 25
15 [&JRsKRIEEHE RCERD | 22800 18 20
16 |4k 5 54 CEFD —f | 22800 20 50 4
17 | W %55 RCERD —f | 22800 6 30
18 | ZARBI &S RREI R(EED SR | 25800 7 10 3
19 [ZREI (EHGRMEI CERD | 2R | 25800 6 10
20 (B 2R (Ehghiie) RCERD | 2R3 [ 25800 7 10
21 [ BEZEA (DILER 1OCERD | 2R | 25800 6 10
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01 |$m 30| mECERD | i | 21800 32 4 74 6

02 |HESMELT 1) 3 IR CEED — 21800 10 30

03 | AR B B O 5245 1 5 R 7 SUR T 1)) 3 B (EERD - 18000 10 38 2

04 | TR 3 =R (EED —& 18000 6 4 12 4

05 | R¥dE 51t 3 I CEED —f& 18000 6 10 4

06 SIS AR ERI ) PG 3 =R (BED i 28000 6 10

07 (BRI BRI BRI 217 14 3 I CERD — 18000 4 22

08 ﬁ;ﬁ;iﬁ%iﬁ?ﬂczﬁ I o i AR i 2 3 EH (BRD i 18000 2 10

09 |7 #E 3 =Bl CERD fB 18000 80 109

10 | TARE M 3 B CERD — 18000 4 24
A66 b B AR 2B 11 | SR TREROR R LA Bt 77 18) 3 P CEFRD —fi% 18000 2 2 27 2 {1

12 | Hrae iR R 3 =R (BED i 18000 8 46 6

13| HLi— M fe iR 3 B CERD — 18000 2 30 2

14 [HzhoR CERERETT ) 3 P CEFRD — 18000 2 38

15 | VFSENUSI A HEAR (VRESILSETT 1) 3 I CERD f 18000 2 25

16 | REAHEAR 3 B CERD —& 18000 2 2 36 6

17 [THEHR L EAR 3 =R (BED — 18000 2 25 2

18 | eI SRR 3 IR CEERD i 18000 2 25

19 |/ AR 3 P (R [ ZARFE | 21800 2 6 22 4

20 (RS EERE 3 Bl CLRD —fi% 18000 6 2 37 2

BEHRIGT: 900 A 190 20 650 40

01 |5R55 54N s 3 B CERD — 18000 2 2 8 2

02 | BLAA L E L 3 =R (BED —f& 18000 2 8 2
AT | bgrtmptR | o [REIEEIE CRRIRZURESET |5 | g cer | e | 18000 3 i

04 | TR 3 =R (EED —& 18000 3 2 18 2 2

05 B8 ¥4 3 IR CEED —f& 18000 2 10 1
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| At | S | Rt
B BERA
06 |KEES &t 30| mm ERD | o | 18000 2 2 6 2
07 B R EE 30| mEm CBRD | | 18000 2 8 2
08 Bl B A 30| mm BRb % | 18000 2 8 2
09 |HrRLIEERA 30| @ ERD | o | 18000 5
10 [TokHLEs AR 3 A CERD — 18000 2
TS e T EPN 30| (BRD % | 18000 6 2
i B B B AR 2B 1
12 |REfSeE CEER ST D 30| mm ERD | o | 18000 2 4
13 [N HEE (EFR S5 R 3 A CERD — 18000 2 4
14 |ZREH T ES AR 30| (ERD | ZA% | 18000 1 5
15 | SR BFEBEA 30| (ERD | ZAR% | 18000 I 5
16 | ZARBE (NS 3 A CERD 2R 18000 1 5
HBEHRIET: 150N 20 8 105 15 2
01 |35 1 R4 15 1 F 30|l CERD | 29800 5 3 10 3
02 |RBIEL N 30| mE (R | A% | 33800 7 3 9 1
03 (I i 5 30| (R | 2A% | 29800 1 4
04 | IR 3 A CERD SR | 29800 1 1
05 | [ Brhr 5 3 A CERD 2RI | 29800 2 5
06 | 5 30w csRD | ZA% | 29800 2 10 !
07 |[#&5FHr 3 EER (RD 2R | 33800 1 2 5
R R N thig
08 [Fiigm T 3 A CERD AR | 29800 1 2 9
09 |HEAHERHA 30| mE CERD | A% | 29800 1 2 12
10 | NS GEARS: Skt 30|l CERD | A% | 29800 I 6 2
11 | 3@t 3 =L (ERD | EARI [ 29800 1 3 9 2
12 | AR 30| mm cBRD | ZA% | 29800 1 9
13 |MMEBHARA GRS WIHE) 30| (ERD | 2AR% | 29800 I 1 1
BEFERIAT: 150 A 25 15 100 10
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18 (Wit R GresburesD | 3 [amcer | e [ s | 0 T A
19 B AR A 3o |mmocer | oom | 70 [ 0 T T
RAERRI AT 870N 450 7 405 8
01 [sermiR 3o |wmcer | om | 7s0 | 12
02 (B R T 3 |mmocer | m | 7500 17
03 |gies R R 3o |wm e | om | 70 | 12 -
B IV e, 3| mm ceRh | | 7500 1 Lk
05 |93 30| mIR CRRD — % 7500 5 26
06 [manLsErms S 3 |mmcer | m | 7500 17
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03 [HFasA 3 I CERD M 7500 25
04 | FifeIRERA 3 I CERD —fi 7500 20
A78 R AR 2B 1Ei%
05 | TR 3 mER (CERD — % 7500 25
06 | FRIUBEM LR 3 mHR (BRD - 7500 22
07 |FETEEE% 3 mIR CEED — % 7500 25
BEFRIET: 175 A 14 159 2
01 |&BEHLHEEAR 3 EER (B - 7500 20 20
02 | TAkHLE AFEAR 3 mIR (BERD —f 7500 10 10
03 |@MEN I 3 mIR (CERD — % 7500 10 10
04 | AL LREAR 3 I CERD M 7500 10 10
05 | ¥ifeiER MM S 4EEHAR 3 B CERD —f 7500 10 7 3
A79 AT AR 2B 1Ei%
06 |B555 i ¥ 55 3 IR CEERD —f% 7500 10 10
07 | Bt E RS 5E 3 = (EED - 7500 10 5 5
08 [Wriaiizzh5EH 3 HE (ERD — 7500 10 10
09 | HE 5 R Th 3 mIR CERD ZARZE | 10000 10 8 2
BAHRIET: 2004 100 90 10
01 |HLA—MfbiA 3 B CERD —f 7500 4 1 30 1
02 [HrfbigitSHliEsA 3 I CERD — 7500 2 16 1
A80 IR THRY 22 B 03 | AL LHAR 3 mER (BERD - 7500 4 1 30 1 %é i, BEBEAEMNE
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03 | MBI 3 [ mmocsrb | | 7500 2 26 2 (. IR
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